Calculating Change

Vertical Subtraction

Solve the following subtraction sums. Make sure you show your working.

12,

4 0 0 O

- - 2 6 9 5
13. ; 16.

9 0 0 O 4 0 0 O 4 0 O 5 0 0 O

- 8 7 50 - 2 2 15 - 3 7 5 - 4 8 2 0

Nathalie bought a chicken. She

He was given $3.60 change.\{

How much did the sandwich How much did the chicken
cost? cost?
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Calculating Change Answers
Vertical Subtraction

Solve the following subtraction sums. Make sure you show your working.

13.

Nathalie bought a chicken. She

handed over handed over

He was given $3.60 change. Q

How much did the sandwich How much did the chicken
cost? cost?

$6.40 $3.15
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